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will, however, ‘bel scaled down proportionately iﬁ _
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Note -— (i) Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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All questions are compulsory.
All qﬁestions of eacﬁ section (A & B),
* should be attempted together.

All questions carry equal marks.
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What do you mean by monopoly power ? Describe how
the lerner index of monopoly power can be used to

measure it. 7.5
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Explain the absence of supply curve under monopoly

with the help of a relevant diagram. ' 75
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What is peak load pricing ? How can a public utility company

producing electricity be better off by following a policy of peak

load pricing than ‘one of uniform pricing ? 15

P.T.O.



( 4 ) 5786
Wﬂn’aﬁnﬁ-ﬁaﬁmﬁwm% ? fororeht e
e &
2 A o A Fr T o W e
o |
' (a) Explain Cournot’s model with the help of reaction

curves. 715
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®) Exp'lainv_the short-runequilibrium under monopolistc

competition. | 75
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What is price leadership ? 'E?cpla.in the d:ominant pricé
legdérship model. 15
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How does excess capacity arise in case of monopolistic

competition ? Is it different from the idle capacity ?

‘Explain. 75

" P.T.O.



(.6 ) 5786

(@)  Explain the concept of transfer earning ? How s it
related to economic rent ? Explain with suitable diagram

and examples. Afso show when the factor earns :
..(’) Rent
(i) No rent
(iii) Parts of income as Arent and part as tranffer
earnings. | 75
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Differentiate between nionopolistic and monopsonistic
exploitation of labour. Can trade unions help in removing

these forms of exploitation ? 75
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- Discuss the Indifference curve analyéis of labour supply

curve. Why is it backward bending .? 15
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How do trade unions influence wages and employment
when the labour. market i’slmonopsonistic in nature ? 7.5
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Write short notes on : 15

() Difference between the Nominal rate of interest and

the Real rate of interest.
(i) Internal rate of return’
wfe feooit fafew -

(}) Wﬁq@ﬁmaaﬁ{mﬁm

W H dqE AN

(i AR Hi ARE T



9 ) 5786

(b What is the meaning of diminishing, constant and
increasing marginal utility of money ? Show with the
help of total utility of money curve and explain what

are : 75
(i) - Risk loving person
(i) Risk neutral person’

(iif) Risk averse person.
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- What are the factors that a consumer takes into account

when deciding to buy or not to buy a car ? 15
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How do investors calculate the present value of a bond ?
What do you mean by effective yield on bond ? If the
interest rate is 5% per annum, what is the present value

of a perpetuity that pays Rs. 1,000 per year forever ? 7.5
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With the help of the Edgeworth production box diagram,
explain general equilibrium of production. What does the

production contact curve indicate ? 75
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What is public good ? Explain why private markets will

fail to provide public goods efficiently. - 75
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Show how a perfectly competitive market automatically

leads to Pareto optimality in exchange production and

product mix. 7 75
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What is the market signaling ? How can it be used to

solve the problem of adverse selection resulting from

asymmetric information ? 75,
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